Parts List «—..x

F)—

IN—Y)ZAr3—F 523532

PW

Model: CST310M-

BIGIU]

2013.02.



HaEBODZHERIZDOINT

1.

o o ks DN

m

00 N O O b~ WN =

&R D TIEXDIRIE

wiER (BX) - BeBES - BBRAH - HEZHETIL,

INFERAR (TR R DEERRESSB TSI,

B&aEnd THILFMESS] ZSFERATIL,
AKEARIEIEBLI-BDEHYET,
AMBERIBBDAFELGERETHIIELHYFET,

Fig. DFRRIZDLNT

AZARR—=UIT Fig. XXSHBERTLTHYFET, 20 XX [FAFRM—D
ELOREBLESZRLET,

0 e eeeesess s 2
e (0122 1002 A 4
A s S S oSS S 6
i s Ay ey 10
L B B O 100 B SO OOON 12
A N 1SS 14
ey A 16
AN I G A x B N A b o == SO 18



1 » CST310M-PW
TV




RHES | HBAES B & & & % fi@
1-1 362774 | CST310M-PW 1
1-2 287010 | Y)U4T7tv77) 1
1-3 285541 | ' AHYh 1
1-4 261232 | 6 W97 V%770V K b 4 | M5X20L
1-5 279299 | 97V94—=A3v77)-} 1
1-6 285521 | ATYUY 2 | 6001X3JRXC3
1-7 285626 | A4y —lb 1
1-8 261492 | A4LY—N 1 | ISCD12287 4"A+Y
1-9 055185 | CH'4hAD 1 | 7+3v 28
1-10 127216 | E5%"h'% 1 | M8
1-11 288365 | 0—47tU7") 1 | 20,30~327L
1-12 261232 | 6 h9T7+Y%770 K b 3 | M5X20L
1-13 285599 | Y¥7hav7—+b 1
1-14 285049 | ALY 1
1-15 285590 | EAMYVY 2 | P111
1-16 285591 | E'AMEY 1 | 8X31
1-17 261037 | Z—FAANTYLY 1 | 8X11X11.8X1
1-18 261576 | #4997’ 2
1-19 285554 | ¥H 2T HEUTY) 1 |20~ 27794
1-20 285555 | 0—4 1
1-21 285556 | 19 =vYAVA{NT YT 1 |22~ 27794
1-22 286095 | Il 1
1-23 286096 | I-FN7tU7Y 1 | 24~ 27794
1-24 286097 | 31—V 1
1-25 261074 | 7779 %47 1
1-26 261075 | 799 1
1-27 261072 | ¥Yv7° 1
1-28 261076 | N V- 1 | 3X10
1-29 289024 | FYb 1
1-30 285553 | 3FIVh 2
1-31 285552 | A7V 2
1-32 020299 | Eh'4hA0 2 |3t 4
1-33 281211 | 2991 2 | M4X20WSW
1-34 264652 | AN-9739" 1 | cJsy
1-35 264223 | 6 W97 VX770V K Vb 2 | M5X40
1-36 285535 | 479FT €7 1 | 37,38744
1-37 285655 | 479Fva 3
1-38 285656 | A7y 3
1-39 285537 | 7YY 1 | 8X26XT2
1-40 285546 | 979FF 7L (3/8) 1
1-41 285625 | Z—NILATYVY 1 | 10X13X10
1-42 285833 | ¥777tU7) 1
1-43 285472 | W AGYR 1




12

Fig.4

e © <

/@-T @EW V @WU Wg/@ oS |_ \\
|
- 7

'S

17—

o7

o
N

2 = CST310M-PW

A7




RHES | HBAES B & & & % fi@
2-1 286816 | AALK VI TE7Y 1 |2~10794
2-2 285527 | ®V7HTA 1
2-3 285550 | R —ILF'T 1
2-4 286801 | 7Yv¥ 1 | T0.56.5X9.8
2-5 014759 | O vy 1 | P6
2-6 285551 | A7y’ 1
2-7 285534 | KU7%yY7 1
2-8 285630 | FATIRY (+) 1 | M3Xx8
2-9 288184 | Al=7 1 | 6.6X4.2X8.4
2-10 285617 | 4YE'V4Y (=) 1 | M4X25 FA°
2-11 285631 | 4YEVAY (+) 5 | M4X16 NAUN
2-12 285528 | 4'OAYb 1
2-13 285533 | 7A-L¥'T 1
2-14 285536 | 7'Wv1 1 | 5.3X12
2-15 285538 | 7YvY 1 | 10.5X36XT1.6
2-16 285522 | AAWNAT A 1
2-17 286802 | AM{In'{7° B 34T 1 |18~ 24794
2-18 285523 | A{nN47 B TtUTY) 1 119,20 794
2-19 265725 | W47 1 | 220L
2-20 261339 | 4'OAvh 1
2-21 286818 | A4 24NETEYT) 1 |22~ 24791
2-22 285524 | #4744 1
2-23 285525 | AANI4NAK T4 1
2-24 261117 | 4y97° 1
2-25 285479 | ®mU7 - 1




3 - CST310M-PW
LA




RHES | HBAES B & & & % fi@
3-1 285488 | 71-INATTEUTY) 1 |2~6794
3-2 285489 | NA7TEYTY 1 34744
3-3 285490 | 71—ILH BAYR 1
3-4 285491 | 71—-ILnN47° A 1 | 3X5X222L
3-5 261117 | 997 2
3-6 264653 | 74T EVT7) 1
3-7 282299 | F'V7 1
3-8 285492 | 71—-ILn'417° B 1 | 2.4X5X145L
3-9 286856 | ¥Y7'LAT7tY7Y) 1 |10~ 42794
3-10 261872 | 29—y 1
3-11 287168 | K V7 hin— 1
3-12 287169 | A%Y1 1
3-13 287170 | 54%774 1
3-14 287171 | W AFYb 1
3-15 262986 | ——FMANILT 1
3-16 263727 | H' Ak 1
3-17 287172 | A7y 1
3-18 283905 | 4'4¥77L4 1
3-19 263726 | hin'— 1
3-20 287173 | A%Y1 1
3-21 262989 | Ln'—t'y 1
3-22 262990 | Ln'— 1
3-23 287174 | 739" 1
3-24 287175 | TANL==F 1L 1
3-25 287176 | MAE—FZ—F I 1
3-26 287178 | A7uY 1
3-27 287179 | TANVARYY)2 1
3-28 287180 | A%Y1 2
3-29 287181 | Lin'— 1
3-30 287182 | u¥’ 2
3-31 287183 | ADYMLA LT 1
3-32 287184 | %Y1 1
3-33 287185 | A7)y 1
3-34 287186 | ¥¥7+ 1
3-35 287187 | F3-4N' L7 1
3-36 287188 | A7y 1
3-37 287189 | 7UY¥ 1
3-38 287190 | ¥¥7h 1
3-39 287191 | Ln'— 1
3-40 287192 | %Y1 4
3-41 264471 | A7)y 1
3-42 287177 | A7y 1
3-43 285539 | #Y—FiK'T4 1
3-44 285584 | ILAub 1
3-45 285579 | JY—=Fhn'- 1




3 - CST310M-PW
LA




RHES | HBAES B & & & % fi@
3-46 286879 | /7 1

3-47 285633 | FAIRY (HWSW 2 | M5X45

3-48 285631 | AYEURY (+) 1 | M4X16 nAUF
3-49 285631 | 4UEVAY (+) 2 | M4X16 N4V
3-50 287088 | F3-4AYp 1

3-51 285495 | {UvaL—4 1

3-52 288551 | vy 1

3-53 285497 | 7°L—b 1

3-54 285618 | 6 AYTFYFHK Vb SW 2 | M4x12

3-55 288404 | 7YY 1| AFH 3L 12




4 - CST310M-PW

IO —R




RHES | HBAES B & & & % fi@
4-1 285694 | IYY Uh—Zau77)—b 1
4-2 285501 | AANFYY77EL7 1 [3~57244
4-3 285502 | A{LFYV7 1
4-4 285503 | Nty 1
4-5 285504 | g 1
4-6 285574 | 774" 1
4-7 285526 | ILAvk 1
4-8 285632 | 6 9T TYX770Y K Vb 6 | M5X16
4-9 286803 | FIVFYYFYTEYTY 1 110,11 7244
4-10 285583 | FIVXYYFY 1
4-11 285585 | F1-7 1 | 7X10.5X18L
4-12 285634 | AYEVAY (+) 1 | M5X14 NAUN
4-13 285531 | B'{F7L—-bL 1
4-14 285627 | AYEVAY (+) 1 | M3X8 FA
4-15 286804 | 241 1 | M5X20X8
4-16 285832 | 7')-%T7ty7 1
4-17 285573 | 77)=H# 7 Ak 1
4-18 287084 | 71-IM¥YV7TtU7Y 1 119~ 21794
4-19 287085 | 71-IL¥vYV7° 1
4-20 286063 | N'YEY 1
4-21 285504 | 4 1




5 - CST310M-PW
JaqJ)LRAA—A




RHES HRES B @ A & %2 ]
51 288746 | YAV R4—4T €7 1

5-2 285548 | 77Uhn - 1

5-3 285631 | 4YE VY (+) 4 | M4X16 NAUN




6 - CST310M-PW

IR




RHES | HBAES B & & & % fi@
6-1 285547 | b7 hin— 1

6-2 286072 | ¥¥7 LN - 1

6-3 285631 | AUE' VAV (+) 5 | M4X16 NAUM
6-4 285620 | b7 NUNIT—R 1

6-5 285621 | M7'nUN VAN = 1

6-6 285635 | AYEVAY (+) 3 | M4X14 +A°
6-7 285582 | £vuT L 1

6-8 285565 | N47 1

6-9 285473 | ¥%v7 1

6-10 285592 | A7y 1

6-11 285644 | AYE VA (+) 1 | M4X12 NAUN
6-12 285645 | AT— 1

6-13 285593 | A7y 1

6-14 285604 | & 1

6-15 285636 | 4YE'UAY (+) 1 | M5X20 F4°
6-16 263743 | E3%H % 1 | 5.7X15.8XT2
6-17 285474 | AMINK LK 3

6-18 286880 | AOYRLLN— 1

6-19 286881 | ¥774Ln— 1

6-20 285594 | A7y 1

6-21 287635 | H4FNUN I 1

6-22 285634 | AYEVAY () 1 | M5X14 NAUN
6-23 285558 | =7 Lav7"1)—} 1

6-24 287094 | A{VFTEUTY) 1 | 25~ 28794
6-25 286225 | A{YF 1

6-26 287035 | AN 1 | STOP

6-27 287095 | /7 1

6-28 282172 | 291 1

6-29 287300 | 4'AAVE 1

6-30 285549 | 4 OAvb 1

6-31 285642 | 4'EAVH 1

6-32 286002 | ' A4Ub 1




7= GST310M-PW

Fror—XA




RHES | HBAES B & & & % fi@
7-1 287983 | FIVF—-ATtY7") 1 |2~16744
7-2 287984 | FIVH-R 1
7-3 287985 | HAkhn— 1
7-4 285637 | AVEVAY () 1 | M5X12 43
7-5 285639 | AYEURY (+) 1 | M4X14 %3
7-6 285644 | AYEURY (+) 1 | M4xX12 nAuF
7-7 285595 | Y4—YR7)UY 1
7-8 287115 | 70Uk =F2av7")—F 1 1910794
7-9 285578 | 7AuM - 1
7-10 286048 |tV 2 | 3x238L
7-11 285638 | F7RI%Y (+) 1 | M5X30
7-12 285607 | h7— 1 | 5.2X7.5X22.5L
7-13 286045 | 7YY 2 | 5.3X15X1.2
7-14 285640 | TYb 1 | M5X0.8
7-15 285532 | /M7 L—-FR 1
7-16 285627 | AYEURY (+) 2 | M3X8 FA
7-17 283041 | 6 h9Fb 1 [ M873vY°13




8 - CST310M-PW
NYR—2 « FARN— + (RS

13

10

(8| GIUIM
CST310M

|
Le®A AES)

11

Hk-#T
WEES: BARM AR
# . csT3oM-PW
#EE: 30 Tcc
B B 3.5k
SHARKIE: 4. 8m/s
REREE: #ARL AWLHER
RN=HT3Y . FrvEFY CI8Y
Atrh:288332 HAK/S— S —TF—
Bzyh:288026 Y—F v R

15
£

NSk
BiTi35!




RHES | HBAES B & & & % fi@
8-1 286840 | FIVAN - 1 | 1440739
8-2 285731 | IVERVIRANT 1 | 13X19(-)L116
8-3 288759 | M)TYh{EVAM3 1 | CST310M-PW
8-4 287261 | £V9EYAMYa 1 | Foy-
8-5 288332 | N'T=Yv—7"F— A b 1 |67794
8-6 289782 | N—=YIUMN—7 - 1
8-7 288925 | AN 1
8-8 289317 | A1 1 | CST310M Yaql
8-9 287164 | 3~ 1| w90y
8-10 289318 | A 1 | CST310M FIVh—2
8-11 289319 | 3”1 1| Ya%vary
8-12 287153 | 3”1 1| #0)3AF4 N
8-13 287161 | A1 1 [ 3=33y
8-14 269824 | A 1| ¥'ya%eq
8-15 288498 | 7AL 2 | PW3IY/ M Tn5LE3Y
8-16 288026 | N'J—Yv—7"F—B tyt 1




€

K X

Q = LLRAE TR
BHEFRBERZEO

HLYE—- b 2—: EE 0120-898-114
ZFIFESR: AN9:00~PH5:00(X. H.5AA %2 <)

Printed in japan 2013-02.SM




